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Table 1

	Data are in Trillions of Dollars

	Personal consumption expenditures                  $3.0

	Net private domestic investment                         1.4

	Depreciation                                                        0.2

	Government purchases of goods and services    2.0

	Exports                                                                0.5

	Imports                                                                0.3

	Foreign factor income                                         0.1


1. From Table1, Compute the GDP

                                           Table 2
	
Component
	Number of people
(millions)

	Total population
	246

	Working-age population
	207

	Labor force
	139

	Employed
	133

	
	


Use Table 2 to answer Questions 2

2. What is the unemployment rate?

3. What are the effects on the exchange rate between the British pound and the Japanese yen for each situation given in a and b below.

(You must respond by clearly stating which currency would appreciate and which would depreciate)

a.  an increase in Japanese interest rates

b.  an increase in the price of British goods

4. Use figure 2 below to answer to the following question
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 Figure 2

From figure 2, choose the number that represents where the economy is located if  aggregate output is above the level of planned spending and if aggregate output is above the equilibrium level of output. 

5. 
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 Figure 3

From figure 3, choose the number that represents  where the economy is  located if the interest rate is below the equilibrium level and people are holding less money than they desire. 

6. Suppose that the economy starts at equilibrium and the mpc = 0.75. What would be the effect of a $300 increase in government spending on equilibrium income/output once all the rounds of the multiplier process are complete?
7.Complete the following:

An increase in the marginal propensity to 1…… will decrease the size of the expenditure multiplier (() and therefore the IS-curve will shift to the 2……. and become steeper. If people save more and spend less, firms will experience an increase in unintended inventories. Firms will respond by decreasing 3………. and national income will 4……….. Therefore, the Fed will have to stimulate the economy by increasing the supply of money via 5……. ……… purchases, which will shift the 6……-curve to the 7…….. As a result of these two shifts we will have lower interest rates. This means that 8………… as a fraction of GDP will increase, while 9……..'s share of GDP will 10…….. (Lower interest rates may also cause an outflow of capital, which will lower the value of the domestic currency, leading to an increase in net exports.)
